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What you need to Things to Remember Problem . Problem
know and be able to :
do
1. Justify steps using |  Associative prop 14 = 5x — (2x + 4) original problem
properties Commutative prop | 14= 5x-2x -4 i $hvibute
Symmetric prop 14= 3x-4 . A A
Add property of = 8= =3y Add | pot
Subtract prop of = 6= X Piv. PoE
Division prop of = X=6 SNAMA. OB

2. Solve multi-step
equations and |
inequalities

« It variables cancel
and left with false
statement (4 = 6),
then no solution. If
frue statement
(4=6) then infinitely
many solutions.

Flip the <> sign
when multiplying or

Q) “A(2%- 8] = -6 = 2X- 12
"G x+i12 = - BX=-12
e el bl R
MNo Soluwvion

P.3X +12 = -4(-6x — 3) + 3x
DA 42 2 D4y +12+DK

C.-4x—(2x+12) >3x + 6
Uy - >x~i2 > 3Kto
~ox ~12>3%+6
-9x > 1%
e

d. 2x—4 > =(6x + 10)

ax_;‘,,?_?,}(‘l'g

Evaluate: substitute
a number for x

X =3xS + = Bx+ip

K+

d. f(2) + h(2)
f(2yz 5 213y -C 26

niz) = 3(2)% = >4

@ g

dividing by a B+ 12 = 2% ti2 2 Zx-g-x. =
negative © 7 24y T2l
5= v %29 [ :
3. Solve literal Isolate the variable | a. solve for p if N = £ b. solve for W if e
equations i i P=2(L+W)
(rearrange Multiply by the me
formulas) denominator when N P -?— s
there is a fraction 2
e = LS
i
| Py Add: combine like | f(x)=x*+3x-5 b. f(x) — g(x)
4. Combining ferms 243X-C - T -2
functions and Subfract: distribute | g(X)=2x* ~x +2 — iy -7
function notation negative | .
Multiply: add h{x)=3x® c. h(x) - f(x) 3)("”( X 1-\-3)(-5\)
exponents 5 4 _heig?
[ © a3 Sl itliteg 190



5. Arithmetic

Adding or

d.

p.

Sequences Subtracting fo get | Write the rule for the Write the first 4 ferm in
to the next term following sequence | the sequence:
Mx+b and find the 50 term: | @ = -2n+7'
i{n)=an 2 36,9.12,1518 1
~r +d On =3+ Blna) 000, gyl
; Qn = dp- 2 o
Beunysive i on = 2N c. write an explicit
AL he t
gehictt ol mSl i Al agy = B = I1SD fo;r(“%'olfo{fze Qs?'eg 4 l
=) , m’}mimz i 518 j ]
: Apn = 2. & 5Lh 1)
6. Graph linear Write equation in graph 3x — yy_=x]_;2 23N -\
functions (lines) slope intercept 0 Graphy +2=-2/3x + 1
form by solving for e JYaxs
e e e
b is y-intercept and AnERi N 6
m is slope (rise over s et : il
Gl - 3 -3%- 3 TYF3%+2 TN
vertical lines: - Groph x+2=0 LR
X = d number and RS duL i3
undefined slope | Lj " -_:)T N |
horizontal lines: o
y = a number and AR e
ds.aislope of zero: | st tmrarn S 88
' 4 x: ,

7. solve word
problems

Consecutive
integer: use x, x + 1,
X+ 2, etc
Consecutive even
AND odd: use x, x +
2, x+ 4, etc

Perimeter: draw
rectangle and
label sides (let x
equal shortest side)

Average: add all
numbers plus x and
divide by number
you have

a. find 3 consecutive odd
integers that add up to
309. Find the integers.

Vil
X A2 AR A
A 4-lp = I
A= Vb2
4 10D
lol (0% |0

b. find 4 consecutive

integers that add up to
130. 31 32 33 34

:‘J\(‘ + ‘P 1 \ +' ‘ t) + .‘ ;“’;:
___—-
———

ey Ao =\
e SR

’,)) f,}

X = 3|

c. The length of a

rectangle is 3 more than
twice the width. Find

length and width if the
perimeteris 48. £ = 3 +2W

HP = 3 trw ts + 3w

HE® L+ Lw e gey

“H2 = law § =
1 = w -y ‘l
d. Bentley chased tennis
balls for 13 minutes Mon, 45

min Tues, and 60 min Wed

How many hours should h‘

chase tennis balls Thursday

to average 50 min per 1LY K F AP |

day? 5
13usvoty o o ¥
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Domain; all x
values

Range: all y
values

X intercept:
where line
Crosses X axis;
where y =0

Y intercept:
where line
Crosses y axis;
where x =0

End behavior:

AS Xx—, f(x)

=,

AS X—-20,
[{XIEDE

Eqn of ine: Y _= T Yt2
Domain:_[L-to o0 )
Range: ( ~oo ;&b )
Yintercept,__((©;,2)
Xintercept._{ =4 ,6)

o) =

Iff(x) = 5 thenx=__©
End behavior:

Asx =D o O > oo

ASX Dras LX) 2>-o




